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PHYSICS 
Q.1 The time dependence of a physical quantity P is 

given by P = 
2t

0eP α− , where α is a constant and t 

is time. Then constant α is - 
  (1) Dimensionless  
 (2) Has dimensions of T–2  
 (3) Has dimensions of P   
 (4) Has dimensions of T2  
 

Q.2 Given : P
r

 = ĵ4î3 − . Which of the following is 

perpendicular to P
r

 ? 

  (1) î3   (2) ĵ4   

 (3) ĵ3î4 +   (4) ĵ3î4 −  

  

Q.3 A train, 100 m long travelling at 40 ms–1, starts 
overtaking another train 200 m long travelling at 
30 ms–1. The time taken by the first train to pass 
the second train completely is - 

  (1) 30 s  (2) 40 s  
 (3) 50 s  (4) 60 s 
 
Q.4 A ball thrown by one player reaches the other in 

2 s. The maximum height attained by the ball 
above the point of projection will be about - 

  (1) 2.5 m   (2) 5 m  
 (3) 7.5 m  (4) 10 m 
 

PHYSICS 

Q.1 ,d HkkSfrd jkf'k P dh le; ij fuHkZjrk P = 
2t

0eP α−

}kjk nh tkrh gS, tgk¡ α ,d fu;rkad rFkk t le; gSA 

rc fu;rkad α - 

  (1) foekghu gS 

 (2) dh foek T–2 gS  

 (3) dh foek P gS   

 (4) dh foek T2 gS  
 

Q.2 fn;k gS : P
r

 = ĵ4î3 − , fuEu esa ls dkSulk P
r

 ds 

yEcor~ gS ? 

  (1) î3   (2) ĵ4   

 (3) ĵ3î4 +   (4) ĵ3î4 −  

  
Q.3 100 m yEckbZ dh ,d Vsªu 40 ms–1 ls py jgh gS, ;g 

200 m yEckbZ dh 30 ms–1 ls py jgh nwljh Vsªu dks 

vksojVsd djuk 'kq: djrh gSA izFke Vsªu }kjk nwljh 

Vsªu dks iw.kZ:i ls ihNs NksM+us esa fy;k x;k le; gS -

  (1) 30 s  (2) 40 s  
 (3) 50 s  (4) 60 s 
 

Q.4 ,d f[kykM+h }kjk Qsadh xbZ xsan nwljs f[kykM+h rd 

igq¡pus esa 2 s ysrh gSA iz{ksi.k fcUnq ds Åij xsan }kjk 

izkIr vf/kdre Å¡pkbZ gksxh yxHkx - 

  (1) 2.5 m   (2) 5 m  
 (3) 7.5 m  (4) 10 m 
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Q.5 A body of mass 10 kg is hanging from another
body of mass 15 kg. The combination is pulled
up by a string with an acceleration of 1.2 ms–2. 
Find the tensions (in N) at A and B shown in
figure. (Take g = 9.8 m/s2)  

 A 

15 kg 

10 kg 

B 

 
  (1) 110, 275 (2) 250, 100  
 (3) 275, 110 (4) 100, 250  
 
Q.6 Given that the position of the body in m is a

function of time as follows x = 2t4 + 5t + 4. The
mass of the body is 2 kg. What is the increase in
its kinetic energy 1 s after the start of motion ? 

  (1) 168 J   (2) 169 J  
 (3) 32 J  (4) 144 J 
 
Q.7 The moment of inertia of a circular wire of mass

M and radius R about its diameter is - 
  (1) MR2/2  (2) MR2  
 (3) 2MR2  (4) MR2/4  
 
Q.8 The orbital velocity of a satellite at a height R

above the surface of Earth is v. The escape
velocity from the location is - 

  (1) 2 v   (2) 2 v 
 (3) 4 v  (4) None of these 
 

Q.5 10 kg nzO;eku dh ,d oLrq 15 kg nzO;eku dh nwljh 

oLrq ls yVdh gqbZ gSA la;kstu dks 1.2 ms–2 ds Roj.k 

ls ,d Mksjh }kjk Åij [khapk tkrk gSA fp=k esa n'kkZ;s 

fcUnq A rFkk B ij Roj.k (N esa) Kkr dhft;s 

(g = 9.8 m/s2 yhft;s) 
 A 

15 kg 

10 kg 

B 

 
  (1) 110, 275 (2) 250, 100  
 (3) 275, 110 (4) 100, 250  
 
Q.6 fn;k gS fd ,d oLrq dh fLFkfr ehVj esa, le; ds 

Qyu ds :i esa x = 2t4 + 5t + 4 ds vuqlkj gSA oLrq 

dk nzO;eku 2 kg gSA xfr izkjEHk gksus ds 1 s i'pkr~ 

bldh xfrt ÅtkZ esa o`f) D;k gksxh ? 
  (1) 168 J   (2) 169 J  
 (3) 32 J  (4) 144 J 
 

Q.7 M nzO;eku rFkk R f=kT;k ds o `Ùkkdkj rkj dk blds 

O;kl ds ifjr% tM+Ro vk?kw.kZ gS - 

  (1) MR2/2  (2) MR2  
 (3) 2MR2  (4) MR2/4  
 

Q.8 i`Foh dh lrg ls R Å¡pkbZ ij ,d mixzg dk d{kh;

osx v gSA ewy fLFkfr ls iyk;u osx gS - 

  (1) 2 v   (2) 2 v 

 (3) 4 v  (4) buesa ls dksbZ ugha 
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Q.9 On increasing the length by 0.5 mm in a steel
wire of length 2 m and area of cross-section 
2 mm2, the force required is – [Y for steel =
2.2 × 1011 Nm–2] 

  (1) 1.1 × 105 N (2) 1.1 × 104 N  
 (3) 1.1 × 103 N (4) 1.1 × 102 N 
  
Q.10 Two tanks A and B contain water at 30ºC and

80ºC, respectively. Calculate the amount of
water that must be taken from each tank to
prepare 40 kg of water at 50ºC. 

  (1) 24 kg, 16 kg (2) 16 kg, 24 kg  
 (3) 20 kg, 20 kg (4) 30 kg, 10 kg 
 
Q.11 When a system is taken from state i to state ƒ

along the path iaƒ, it is found that Q = 50 cal and
W = 20 cal. Along the path ibƒ, Q = 36 cal. W
along the path ibƒ is - 

ƒ a 

i b  
 (1) 6 cal  (2) 16 cal  
 (3) 66 cal   (4) 14 cal  
 
Q.12 At a certain temperature, the rms velocity for O2 

is 400 ms–1. At the same temperature, the rms
velocity for H2 molecules will be - 

  (1) 100 ms–1  (2) 25 ms–1  
 (3) 1600 ms–1 (4) 6400 ms–1  
 

Q.9 2 m yEckbZ ,oa 2 mm2 vuqizLFk dkV {ks=kQy ds ,d 

LVhy rkj dh yEckbZ esa 0.5 mm dh o`f) djus ds 

fy, vko';d cy gS - [LVhy ds fy, Y = 2.2 × 1011

Nm–2] 
  (1) 1.1 × 105 N (2) 1.1 × 104 N  
 (3) 1.1 × 103 N (4) 1.1 × 102 N 
 
Q.10 nks Vafd;ksa A rFkk B esa Øe'k% 30ºC rFkk 80ºC ij 

ikuh Hkjk gSA ikuh dh og ek=kk Kkr dhft;s ftls 

izR;sd Vadh esa feyk;s tkus ij 50ºC dk 40 kg ikuh 

rS;kj gks ldsA  

  (1) 24 kg, 16 kg (2) 16 kg, 24 kg  
 (3) 20 kg, 20 kg (4) 30 kg, 10 kg 
 
Q.11 tc ,d fudk; dks voLFkk i ls voLFkk ƒ rd iFk 

iaƒ vuqfn'k ys tkrs gS, rks ;g ik;k tkrk gS fd 

Q = 50 cal rFkk W = 20 cal gSA iFk ibƒ ds vuqfn'k 

Q = 36 cal gSA rks iFk ibƒ ds vuqfn'k W gS - 
ƒ a

i b  
 (1) 6 cal  (2) 16 cal  
 (3) 66 cal   (4) 14 cal 

 

Q.12 fdlh rki ij O2 dk oxZ ek/; ewy osx 400 ms–1 gSA 

leku rki ij H2 v.kqvksa ds fy, oxZ ek/; ewy osx 

gksxk - 

  (1) 100 ms–1  (2) 25 ms–1  
 (3) 1600 ms–1 (4) 6400 ms–1  



  

 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

CAREER POINT, CP Tower, IPIA, Road No.1, Kota (Raj.), Ph: 0744-3040000      5 

Space for rough work 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q.13 What will be the time period of the displaced
body of mass m ? 

 

k k

m 

k 

 

 (1) 
m
k32π  (2) 

k3
m2π   

 (3) 
k2
m32π  (4) 

k3
m22π   

 
Q.14 The equation of a progressive wave is 

y = 0.02 sin 2π 



 −

30.0
x

01.0
t  

 Here x and y are in metre and t is in second. The
velocity of propagation of the wave is - 

  (1) 300 ms–1  (2) 30 ms–1  
 (3) 400 ms–1 (4) 40 ms–1 
 

Q.15 Two organ pipes when sounded together produce
3 beats per second. The two pipes are 25.25 cm
and 25 cm long. The frequencies, in Hz, are - 

  (1) 300, 303 (2) 30, 33  
 (3) 235, 238 (4) 265, 268 
 

Q.13 m nzO;eku ds foLFkkfir fi.M dk vkorZdky D;k 

gksxk ? 

 

k k

m 

k 

 

 (1) 
m
k32π  (2) 

k3
m2π   

 (3) 
k2
m32π  (4) 

k3
m22π   

 

Q.14 ,d izxkeh rjax dk lehdj.k gS  

y = 0.02 sin 2π 



 −

30.0
x

01.0
t  

 ;gk¡ x rFkk y ehVj esa rFkk t lsd.M esa gSA rjax ds 

lapj.k dk osx gS - 

  (1) 300 ms–1  (2) 30 ms–1  
 (3) 400 ms–1 (4) 40 ms–1 
 
Q.15 nks [kqys vkxZu ikbiksa dks tc ,d lkFk /ofur djrs 

gS, rks 3 foLiUn izfr lsd.M mRiUu gksrs gSA nksuksa 

ikbi Øe'k% 25.25 cm rFkk 25 cm yEcs gSA budh 

vko`fÙk;k¡ Hz esa gSa - 
  (1) 300, 303 (2) 30, 33  
 (3) 235, 238 (4) 265, 268 
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CHEMISTRY 

Q.16 The E –isomer is  

 (1) 

 F H

Cl Br

 (2)
 

 H3C CH3

H H

  

 (3)

 H3C C2H5

H CH(CH3)2

(4) None of these  

 

Q.17 Which of the following are chain isomers ? 
 (1) CH3CH2CH3 and CH3CH2CH2CH3 

 (2) CH3CHCl2 and CH2ClCH2Cl 
 (3) CH3CH2CH2OH and CH3CH2OH 

 (4) CH3CH2CH2CH3 and (CH3)2CHCH3 
 

Q.18 Which metals form superoxide - 
  (1) Na  (2) Ca, Sr  
 (3) K,Rb,Cs (4) Be, Mg  
 
Q.19 Aqueous solution of baking soda has - 
  (1) neutral solution (2) acidic nature 
 (3) basic nature (4) none of these 
 
Q.20 The IUPAC name of  
 CH3–

33

2

CHCH
||

CHOCHCHCH −−−  is - 

  (1) 2,3-diemthylpentanal 
 (2) 3,4-dimethylpentanal 
 (3) 3,4,4-trimethylbutanal 
 (4) 3-isopropylbutanal  

CHEMISTRY 

Q.16 E –leko;oh gS  

 (1) 

F H

Cl Br

 (2)
 

 H3C CH3

H H

  

 (3)

 H3C C2H5

H CH(CH3)2

(4) buesa ls dksbZ ugha 

 

Q.17 fuEu esa ls dkSu Ük`a[kyk leko;oh gS ? 
 (1) CH3CH2CH3 rFkk CH3CH2CH2CH3 

 (2) CH3CHCl2 rFkk CH2ClCH2Cl 

 (3) CH3CH2CH2OH rFkk CH3CH2OH 

 (4) CH3CH2CH2CH3 rFkk (CH3)2CHCH3 
  
Q.18 dkSulh /kkrq,sa lqijvkWDlkbM cukrh gSa  - 
  (1) Na  (2) Ca, Sr  
 (3) K,Rb,Cs (4) Be, Mg  
 
Q.19 csfdax lksMk ds tyh; foy;u dh izd̀rh gksrh gS - 

  (1) mnklhu  (2) vEyh;   

 (3) {kkjh;  (4) buesa ls dksbZ ugha 

 
Q.20 CH3–

33

2

CHCH
||

CHOCHCHCH −−− dk IUPAC uke gS -

 (1) 2,3-MkbZesfFkyisUVsusy 

 (2) 3,4-MkbZesfFkyisUVsusy 

 (3) 3,4,4-VªkbZesfFkyC;wVsusy 

 (4) 3-vkblksizksfiy C;wVsusy  
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Q.21 In a process, 701 J of heat is absorbed by a 
system and 394 J of work is done by the system.
What is the change in internal energy for the
process ? 

  (1) –307 J  (2) + 307 J 
 (3) 1095 J  (4) –1095 J  
 
Q.22 If 300 mL of a gas at 27°C is cooled to 7°C at

constant pressure, its final volume will be : 
 (1) 135 mL  (2) 540 mL   
 (3) 350 mL  (4) 280 mL   
 
Q.23 Hydrogen bonding is present in - 
 (1) HF  (2) HCl   
 (3) HBr  (4) HI   
 
Q.24 A sp3 hybrid orbital contains - 
 (1) 1/4  s-character  (2) 1/2  s-character   
 (3) 2/3  s-character (4) 3/4  s-character   
 
Q.25 [Ar] 3d104s1 electronic configuration belongs to :
 (1) Ti         (2) Tl         (3) Cu         (4) V 
 
Q.26 The distance between 3rd and 2nd Bohr orbits of

hydrogen atom is : 
 (1) 0.529 × 10–8 cm (2) 2.645 × 10–8 cm 
 (3) 2.116 × 10–8 cm (4) 1.058 × 10–8 cm 
 
Q.27 Correct order of electronegativity of hybrid 

orbitals -  
 (1) sp3 > sp2 > sp (2) sp2 > sp > sp3 
 (3) sp > sp3 > sp2 (4)  sp > sp2 > sp3 

Q.21 ,d izØe esa] ,d ra=k }kjk 701 J Å"ek vo'kksf"kr dh 

tkrh gS rFkk ra=k }kjk 394 J dk;Z fd;k tkrk gSA ra=k 

ds fy, vkUrfjd ÅtkZ esa ifjorZu D;k gksxk ? 

  (1) –307 J  (2) + 307 J 
 (3) 1095 J  (4) –1095 J  
 
Q.22 ;fn fLFkj nkc ij ,d xSl ds 300 mL dks 27°C ls

7°C rd B.Mk fd;k tkrk gS] rks bldk vafre 

vk;ru gksxk : 
 (1) 135 mL  (2) 540 mL   
 (3) 350 mL  (4) 280 mL   
 

Q.23 fdlesa gkbMªkstu ca/k mifLFkr gS - 

 (1) HF  (2) HCl   
 (3) HBr  (4) HI   
 
Q.24 sp3 ladfjr d{kd esa gksrs gS - 

 (1) 1/4  s-xq.k  (2) 1/2  s-xq.k   

 (3) 2/3  s-xq.k (4) 3/4  s-xq.k   
 
Q.25 [Ar] 3d104s1 bysDVªkWfud foU;kl fdlls lEcfU/kr gS 

 (1) Ti         (2) Tl         (3) Cu         (4) V 
 
Q.26 gkbMªkstu ijek.kq ds 3rd rFkk 2nd cksgj d{kksa ds e/; 

nwjh gksrh gS : 

 (1) 0.529 × 10–8 cm (2) 2.645 × 10–8 cm 
 (3) 2.116 × 10–8 cm (4) 1.058 × 10–8 cm 
 

Q.27 ladfjr d{kdks dh fo|qr_.krk dk lgh Øe gS -  

 (1) sp3 > sp2 > sp (2) sp2 > sp > sp3 
 (3) sp > sp3 > sp2 (4)  sp > sp2 > sp3 
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Q.28 Synthesis gas is a mixture of -  
 (1) CO + steam (2) CO + N2 
 (3) CO + H2 (4) CO2 + CH4 
 
Q.29 I.P. of sodium is 5.14 eV, then I.P. of potassium

will be - 
 (1) Equal to sodium (2) 5.68 eV  
 (3) 4.34 eV  (4) 10.28 eV 
 
Q.30 The correct order of electron affinity for the

different families is - 
 (1) Halogen > carbon > nitrogen > oxygen 
 (2) Halogen > oxygen > nitrogen > carbon 
 (3) Halogen > nitrogen > carbon > oxygen 
 (4) Halogen > oxygen > carbon > nitrogen 
 
MATHEMATICS 

Q.31 For what values of m, the roots of the equation
x2

 –x + m = 0 are not real- 

 (1) ] 
4
1 , ∞ [  

 (2) ] –∞,
4
1  [  

 (3) ] –
4
1 ,

4
1  [  

 (4) None of these  
 
Q.32 The middle term of the progression  
 4, 9, 14,....104 is- 
 (1) 44  (2) 49  
 (3) 59  (4) 54 
 

Q.28 ty xSl fdldk feJ.k gS -  

 (1) CO + Hkki (2) CO + N2 

 (3) CO + H2 (4) CO2 + CH4 

 

Q.29 lksfM;e dh vk;uu ÅtkZ 5.14 eV gS] rks crkb;s 

iksVsf'k;e dh vk;uu foHko D;k gksxk - 

 (1) lksfM;e ds cjkcj (2) 5.68 eV  
 (3) 4.34 eV  (4) 10.28 eV 
 
Q.30 fHkUu&fHkUu ifjokj ds fy, bysDVªkWu cU/kqrk dk Øe 

gksxk - 
 (1) gsykstu > dkcZu > ukbVªkstu > vkWDlhtu 
 (2) gsykstu > vkWDlhtu > ukbVªkstu > dkcZu 
 (3) gsykstu > ukbVªkstu > dkcZu > vkWDlhtu 
 (4) gsykstu > vkWDlhtu > dkcZu > ukbVªkstu 
 

MATHEMATICS 

Q.31 m ds fdu ekuksa ds fy, lehdj.k x2
 – x + m = 0 ds 

ewy okLrfod ugha gksaxs& 

 (1) ] 
4
1 , ∞ [  

 (2) ] –∞,
4
1  [  

 (3) ] –
4
1 ,

4
1  [  

 (4) buesa ls dksbZ ugha 
 

Q.32 Js<h  4, 9,14,....104 dk e/; in gS - 
 (1) 44  (2) 49  
 (3) 59  (4) 54 
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Q.33 The coefficient of x4 in the expansion of 
10

2x
3

2
x







 − is - 

 (1) 
256
405   (2) 

259
504  

 (3) 
263
450   (4) None of these  

  

Q.34 How many cricket eleven can be formed from

15 persons if captain is included in every team? 

 (1) 364  (2) 1365  

 (3) 1001  (4) 1000 

 
Q.35 A = {a, e, i, o, u} and B = {i, o} then the true

statement is- 

 (1) A ⊂ B  (2) B ⊂ A   

 (3) A = B  (4) A is equivalent B 

   
Q.36 The mean of a set of numbers is x . If each 

number is increased by λ, the mean of the new
set is- 

 (1) x   (2) x + λ  
 (3) λ x    (4) None of these 
 
Q.37 The angle subtended at the centre of the circle of 

diameter 50 cm by an arc of 11 cm, is – 
 (in degree) 
 (1) 22º 10'  (2) 23º 10'   
 (3) 20º 12'   (4) 25º 12' 
 

Q.33 
10

2x
3

2
x







 − ds izlkj esa x4 dk xq.kkad gS% 

 (1) 
256
405   (2) 

259
504  

 (3) 
263
450   (4) buesa ls dksbZ ugh 

 

Q.34 15 O;fDr;ksa easa ls 11 fØdsV ds f[kykfM+;ksa dh Vhe 

fdrus izdkj ls cukbZ tk ldrh gS] ;fn izR;sd Vhe 

esa dIrku lnSo lfEefyr gks? 
 (1) 364  (2) 1365  
 (3) 1001  (4) 1000 
 
Q.35 A = {a, e, i, o, u} rFkk B = {i, o} gksa] rc lR; 

dFku gS -  

 (1) A ⊂ B  (2) B ⊂ A   
 (3) A = B  (4) A lerqY; B 

 
Q.36 la[;kvksa ds ,d leqPp; dk ek/; x  gS, ;fn izR;sd 

la[;k esa λ dh o`f) dj nh tk,, rks u, leqPp; dk 

ek/; gksxk- 

 (1) x   (2) x + λ  
 (3) λ x    (4) buesa ls dksbZ ugha 
 

Q.37 11 cm ds pki ds }kjk 50 cm O;kl ds o`Ùk ds dsUnz 

ij vUrfjr dks.k (fMxzh esa) gS  

 (1) 22º 10'  (2) 23º 10'   
 (3) 20º 12'   (4) 25º 12' 
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Q.38 If sin θ = 
2

1  and 
2
π  < θ < π. Then the value of 

θ
θ+θ

tan
cossin  is 

 (1) 0  (2) 1  

 (3) 
2

1   (4) 2  

 
Q.39 The solution set of (2 cos x – 1) (3 + 2 cos x) = 0 in 

the interval 0 ≤ x ≤ 2π is - 

 (1) {π/3} 

 (2) {π/3, 5π/3} 

 (3) {π/3, 5π/3, cos–1(–3/2)}   
 (4) None of these 
   
Q.40 Solution of (2x + 1) (x – 3) (x + 7) < 0 is- 

 (1) (– ∞, –7) ∪ 





− 3,

2
1   

 (2) (– ∞, – 7) ∪ 





 3,

2
1  

 (3) (–∞, 7) ∪ 





− 3,

2
1  

 (4) (–∞, –7) ∪ (3, ∞) 
 

Q.41 The value of 
∞→n

lim
3n4

1n21n3 22

+
−−−  is - 

 (1) )23(
4
1

−   (2) )23(
4
1

+    

 (3) )23( −  (4) None of these 

Q.38 ;fn sin θ = 
2

1  rFkk 
2
π  < θ < π gS] rc   

 
θ

θ+θ
tan

cossin  dk eku gS  

 (1) 0  (2) 1  

 (3) 
2

1   (4) 2  

 

Q.39 vUrjky 0 ≤  x ≤  2π  esa lehdj.k  

 (2 cos x – 1) (3 + 2 cos x) = 0 dk gy leqPp; gksxk-

 (1) {π/3} 
 (2) {π/3, 5π/3} 
 (3) {π/3, 5π/3, cos–1(–3/2)}   
 (4) buesa ls dksbZ ugha 

 

Q.40 (2x + 1) (x – 3) (x + 7) < 0 dk gy gS - 

 (1) (– ∞, –7) ∪ 





− 3,

2
1   

 (2) (– ∞, – 7) ∪ 





 3,

2
1  

 (3) (–∞, 7) ∪ 





− 3,

2
1  

 (4) (–∞, –7) ∪ (3, ∞) 
 

Q.41 
∞→n

lim
3n4

1n21n3 22

+
−−−  dk eku gS- 

 (1) )23(
4
1

−   (2) )23(
4
1

+    

 (3) )23( −  (4) buesa ls dksbZ ugha 
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Q.42 If f(x) = 4x2 – 8x + 5 and f '(x) = 0, then the
value of x is- 

 (1) –1 (2) 3/8 (3) 1 (4) 5 
 
Q.43 A bag contains 20 tickets numbered with 1 to 20.

Three tickets are drawn. The probability that
ticket number 7 is definitely included and ticket
number 18 is not included is- 

 (1) 51/380  (2) 1/20 
 (3) 3/20  (4) None of these 
 

Q.44 
i1

iiii1 5432

+
++++   equals - 

 (1) 1 – i  (2) (1 + i)/2 
 (3) (1 – i) /2 (4) 1 + i 
 

Q.45 If points A (3, 2, –4), B(5, 4, –6) and C(9, 8,–10) 

are collinear, then B divides AC in the ratio - 

 (1) 2 : 1  (2) 1 : 2  

 (3) 2 : 3  (4) 3 : 2 

 
Q.46 The triangle with vertices (1, 5), (– 3, 1) and 

(3, – 5) is - 
 (1) isosceles (2) equilateral   
 (3) right angled (4) None of these 
 
Q.47 If the line y = mx + c passes through the

points (2, 4) and (3, – 5), then - 
 (1) m = –9, c = –22 (2) m = 9, c = 22  
 (3) m = –9, c = 22 (4) m = 9, c = –22 
 

Q.42 ;fn f(x) = 4x2 – 8x + 5 rFkk f '(x) = 0, rks x dk eku 

gS – 

 (1) –1 (2) 3/8 (3) 1 (4) 5 
 
Q.43 ,d FkSys esa 1 ls 20 uEcj rd ds 20 fVdV gSaA rhu 

fVdV fudkys x,A bueaas fVdV ua.7 vo'; vkus ,oa 

fVdV ua.18 u vkus dh izkf;drk gS- 

 (1) 51/380  (2) 1/20 

 (3) 3/20  (4) buesa ls dksbZ ugh 

 

Q.44 
i1

iiii1 5432

+
++++  cjkcj gS& 

 (1) 1 – i  (2) (1 + i)/2 
 (3) (1 – i) /2 (4) 1 + i 
 
Q.45 ;fn fcUnq A (3, 2, –4), B(5, 4, –6) rFkk C(9, 8, –10) 

lejs[kh; gksa] rks B, AC dks fuEu vuqikr esa foHkkftr 

djrk gS- 
 (1) 2 : 1  (2) 1 : 2  
 (3) 2 : 3  (4) 3 : 2 
 

Q.46 (1, 5), (– 3, 1) vkSj (3, – 5) 'kh"kks± okyk f=kHkqt gksxk -

 (1) lef}ckgq (2) leckgq  

 (3) ledks.k  (4) buesa ls dksbZ ugha 

 

Q.47 ;fn js[kk y = mx + c fcUnqvksa (2, 4) rFkk (3, – 5) 

ls gksdj xqtjrh gks] rks- 

 (1) m = –9, c = –22 (2) m = 9, c = 22  
 (3) m = –9, c = 22 (4) m = 9, c = –22 
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Q.48 The equation of the circum-circle of the triangle 

formed by the lines x = 0, y = 0,
a
x  – 

b
y  = 1, is - 

 (1) x2 + y2 + ax – by = 0   
 (2) x2 + y2 – ax + by = 0 
 (3) x2 + y2 – ax – by = 0    
 (4) x2 + y2 + ax + by = 0 
 
Q.49 The vertex of the parabola x2 + 4x + 2y – 7 = 0 

is- 
 (1) (– 2, 2)  (2) (2, 11)   
 (3) (– 2, 11) (4) (– 2, 11/2) 
 
Q.50 The eccentricity of the ellipse represented by the 

equation 25x2 + 16y2 – 150x – 175 = 0 is - 
 (1) 2/5  (2) 3/5   
 (3) 4/5  (4) None of these 
 
 
 
 
 
 
 
 

Q.48 js[kkvksa x = 0, y = 0 vkSj 
a
x  – 

b
y  = 1 ls fufeZr 

f=kHkqt ds ifjo`Ùk dk lehdj.k gS& 
 (1) x2 + y2 + ax – by = 0   
 (2) x2 + y2 – ax + by = 0 
 (3) x2 + y2 – ax – by = 0    
 (4) x2 + y2 + ax + by = 0 
 
Q.49 ijoy; x2 + 4x + 2y – 7 = 0 ds 'kh"kZ ds funsZ'kkad 

gSa& 

 (1) (– 2, 2)  (2) (2, 11)   
 (3) (– 2, 11) (4) (– 2, 11/2) 
 

Q.50 lehdj.k 25x2 + 16y2 – 150x – 175 = 0 ds }kjk 
iznf'kZr nh?kZo`Ùk dh mRdsUnzrk gS- 

 (1) 2/5  (2) 3/5   
 (3) 4/5  (4) buesa ls dksbZ ugha 
 
 


